KOC UNIVERSITY Fall Semester 2013
College of Arts and Sciences
Section 1 Quiz 1 26 September 2013

PHYS 101: General Physics

Closed book. No calculators are to be used for this quiz.
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By direct substitution show that Ax(BxC)= B(A-C) - C(A - B) for the vectors A =1i- 2f,

E=j‘+f¢,and6=§.
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You are given vectors A = 5i — 6.5 and B = —3.5i + 7j . A third vector C lies in the xy-plane.

Vector C is perpendicular to vector A , and the scalar product of ¢ with B is 15. From this

information, find the components of vector C.
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—4i + 5fand B = 21 + 5k . Find the € which has magnitude 5 and which

Consider vectors A =
is parallcl to AxB.
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drawn from a common point, the angle between them is ¢. Using

When twao veclors A and B arc
|K + El) is given by

vector techniques show that the magnitude of their vector sum (
JA? + BZ 4+ 24B cos ¢ .
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